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FSZEF~_UR $ 100 45° 1A
.=0.390
FSZEF~_UR $ 100 22 1/2° 1A
L=0.940 1 = 1.00 1
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L.=0.820 1 = 1.00 1
PEFRL O #5858 TF% | ¢ 100X 75 1l
L=0.660 4 = 4.00 4
5O BA NS BRI HTRD) | ¢ 100 1l
4 = 4.00 4
P 6100 fe
121.0+0.49642+0.608%1+0.498%2+0.940%1+0.429%2+0. 114%2+0.825%5+0.820%1+0.660%4 =  133.207 133.2
PE ¢ 100 #iEE m
121.0+0.496%2+0.608%1+0.498%2+0.940%1+0.429%2+0.114%2+0.825%5+0.820% 1 +0.660%4-0.825%5-0.820%1 = 128.262 128.3
PE ¢ 100 FigkiEE m
L=0.24 1 = 1.000 1.0
NS-ERE %7 ke — AL | ¢ 100 1l
L=0.200 2 = 2.00 2
NS-Eff i ¢ 100 1
5 = 5.00 5
N-Link ¢ 100 1
1 = 1.00 1
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2 = 2.000 2.0
FERR ¢ 100 ]
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% m
1.=0.370
T2 ER~ R 675 45° fl
1.=0.375
HZEF~UR 675 22° 1/2 fl
1=0.310
EFF—X 6 100X 75 fi&
1=0.765 1 = 1.00 1
PEFfL AftY 7 b —At8)5e | ¢ 75 B
B = 2.00 2
EFY/rvhk ¢ 75 1
L=0.046
AHPCT Ak 675 fi&
L=0.615 1 = 1.00 1
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P e 675 1
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W77y EE ¢ 75X 150L 1l
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6.3+0.765%1+0.615%1+0.300 7.980 8.0

PE ¢ 75 #RIER m
6.3+0.765%1+0.615%1+0.300~0.765%1 7.215 7.2

PE ¢ 75 fiskitE m
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1 1.00 1
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A E (FRhASL R4 2L B 1
AR=IELE /Y FVJ-A(200) 6 6.00 6
A2 FRbIABY [R5 dn DL B 1
[insIETE /N FV]J-C2(300) 6 6.00 6
A2 FRbIABY [R5 dn DL B 1
IR A THP4(EAR) 6 6.00 6
A2 FRbABY [R5 dn DL B 1
ZERIPR N JV1B-10MCN1
Bhas Rr AR RIS S DL b 1
ZERIPRDN KNVJ-A(200)
A2 FRbIABY [R5 dn DL B 1
ZERIRR N KNVJ-C2(200)
VA y)—p (RbIABY TR S dn DL B 1
BRIPRN A KNVJ-D(EE#R)
VA y)—p (RbIABY TR S dn DL B 1
WRT — 7 B RGBS 70.44 70.4
HRT—7 W=50 m
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IR — ] W=400 47"V m
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Ly vay -k FRMASY 1% DL R 18l
IR A THPA(ER) 2 2.00 2
Ly vay -k FRMASY 1% DL R 18l
BRIPRN A JVIB-10MCNI1 1 1.00 1
#has FRMASY RS DL R 1l
BRIPRN A KNVJ-A(200) 1 1.00 1
Ly vay -k FRMASY 1% DL R 18l
BRIPRNA KNVJ-C2(300) 1 1.00 1
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BRIPRN A KNV J-D(ER) 1 1.00 1
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FRER T EE S L 2 2.00 2
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PEMT T (EF#5) 39 39.00 39

$100 10 5]

AU ASPERE T 6 6.00 6

CIE1% & T

AU ASPERE T

CIE1% & T

VYA MRy IARTE T | 6 6.00 6

M1S _EisEE, e: & T
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M5 TeE, KK E T

VYA =Ry ) AR TR T

B34 ise, s, KR AT

VA =Ry ) AR TR T

M35 ke E T

B RT-7 L 128.262+0.64-0.24 128.66 128.7

¢ 100 m

By~ T 128.262+0.64-0.24 128.66 128.7
m

PARZED b2 -7 B T | 133.207 133.21 133.2
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DCIPAiE% L 1 1.00 1.0
¢ 75 m
AW AERE T 1 1.00 1
dT5X ¢ 75 T
Rk & L 3 3.00 3
¢ 75 =]
)R E T 1.00 1.00 1
o 75 HE &
28R IrRRE T 1.00 1.00 1
¢ 25 e
PEAi# L. (EF#4) 7.215 7.22 7
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PEMETF T (EF#:4) 2 2.00 2
75 20 u]
PEMETF T (EF#4) 2 2.00 2
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AU S B 1 2 2.00 2
CiE15 &
AL AP ERE T 1 1.00 1
CiE15 &
VA )=y ARk E 2 2.00 2
M LS i, e T
VA =Ry ARk E 2 2.00 2
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L=0.170
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L=0.570
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L=0.470
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L=0.160
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L.=0.850 3 = 3.00 3
GXfE hszihE ¢ 250X 90° 1A
L=0.570(0.973_K) | 2 = 2.00 2
GXfE hszihE ¢ 250 X 45° 1A
L=0.460
GXfE hstihis $250%X22 1/2° 18
L=0.410
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L=0.410
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GXIE L.=0.300 1 = 1.00 1
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GXE 9+2 11.00 11
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GXE (2% 2+ 143+ 12+ 1 $4+2% 1 +2%2+ 1 %3+1)-1%11 12.00 12

B AT &2y AR | 250 H
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BRIPRN A KNVJ-D(EE#R)
VA y)—p (RbIABY TR S dn DL B 1
HRT —7 BB END 30.94 30.9
HRT—7 W=50 m
7K 21.227 21.23 21.2
PR —h W=400 47"V m




G & G % ]
4 g B ook F & # B =X HAL| % =
2 BlKAE GRS ¢ 250
fEEIF DA JDV2SD-52HK 6 6.00 6
RUAFE ERh AR R4S DL E e
AR=IELE /Y FVJ-A(200) 6 6.00 6
A2 FRbIABY [R5 dn DL B 1
[insIETE /N FV]J-C2(300) 6 6.00 6
A2 FRbIABY [R5 dn DL B 1
IR A THP4(EAR) 6 6.00 6
A2 FRbABY [R5 dn DL B 1
BRIPRN A JVIB-10MCNI1
Bhas NS YD 1
BRIPRN A KNVJ-A(200)
A2 FRbIABY [R5 dn DL B 1
BRIPRNA KNVJ-C2(200)
VA y)—p (RbIABY TR S dn DL B 1
BRIPRN A KNVJ-D(EE#R)
VA y)—p (RbIABY TR S dn DL B 1
HRT —7 BB END 73.78 73.8
HRT—7 W=50 m
7K 60.950 60.95 61.0
PR —h W=400 47"V m




% B G i &

4 g RN WS # B X H 7
3 BlKAE 5 ¢ 300
DCIPAiE% L 21.227 = 21.23
¢ 300 m
GXIEAk T2 6 T 0+3+3 (Eﬂ£$+:}4+— +E’ﬁz%$$) — 6.00
6300 A WIS H
GXIEMkFHEE T.(G-Link) | 3 = 3.00
¢ 300 =]
L) FpakiE T 1.00 = 1.00
¢ 300 et /) X
ZERIrARE L
¢ 25 e
PEAi# L (EFES)
¢ 150 m
PE{F T (EFHE:E)
¢ 150 20 u]
PE{F T (EFH:E)
150 10 5]
AU S B 1 1 = 1.00
ClE15 T
AL AP ERE T
ClE15 T
VY v p =My s AR T 1 = 1.00
M1 LiReE, HimeE &
VY v pY =My s AR T 1 = 1.00
M2 THBEE, JEMK (&30
VY Ay —bR s AR B T | 1 = 1.00
P bR, FEOEE, FOM (&30
VY Ay bRy AR E T | 1 = 1.00
M35 LieE i
HIRRT—7" T 21.227 = 21.23
¢ 300 m
EIRRY— T 21.227 = 21.23
m

FYZIV Y R)—7 B R T 21.927 (DCIP'E DA = 21.93
¢ 300 (B1EHA) m




-

4 g B R F & # B =X HAL| % =
3 BEKARE S ¢ 250

DCIPAfi % T 60.950 60.95 61.0

¢ 250 m

GXTEAk 44 L 4+8+12 (B F+54F—+ ERERTE) 24.00 24

$ 250 EE-BBEZO H

GXIEMkFHEE T.(G-Link)| 9 9.00 9

¢ 250 =]

AU Fak & L 5.00 5.00 5

6250 Kb B

AWK Syl 1.00 1.00 1

¢ 250X ¢ 250 HH.

AWK oG Tk 3 3.00 3

¢ 250 T

PEMET T (EF &)

$ 100 21 |

PEMET T (EF#4)

$100 11 |

AU S B 1 6 6.00 6

CiE15 &

AU S ERE T

CEl= &

VYA i) -y AR E T | 6 6.00 6

M1 LiReE, HimeE & P

VY gy ARIET. |6 6:99 8

Mf25 FHBE, K T

VA )=y g AR T

P bR, FEOEE, FOM T

VYA )=y g AR T

ME3E RiaE &

EHRT-7 T 60.950 60.95 61.9

¢ 250 m

HIHRY—h T 60.950 60.95 61.0
m

FYLIVLRY—7 W T 63.970 (DCIPE DH) 63.97 64.0

¢ 250 (BT EHA) m




B G i

4 g IR N N B B =X HAL| % &
4 BKARELT ¢ 300
0.9%1.673%21.927 33.02 30
BB ] m3
0.9%0.873%21.927-(0.323 2% 5 /4+0.125 2% 5t /4)%21.927 15.16 15
BRI R Velgnb m3
0.9%0.8%21.927 15.79 16
B E AR R RC-40 m3
fEren T3ECH) 33.02 33.02 30
Ay TEREERE  L=4.2km m3
SRR B T t=10cm m
SRR t=10cm m2
(BF) il P
T AT 7L N E TER RS - L=4.8km m3
T A7 7 )V LSy (BR) il P t
R M40
BT t=15cm m2
A HLRLEE As20
s T t=5cm m2




4 R IR N N B B =X HAL| % &
4 BKARELT ¢ 250
0.9%1.622%63.970 93.38 90
Htl A 1 m3
(0.9%0.822-(0.272"2% 7t /4+0.125 2% 7t /4))*(63.970-4.857-10.019)+(0.9%0.472-0.272 2% 7 /4)%(4.857+10.019) 38.32 38
BRI R Velgnb m3
0.9%0.8%(63.970-4.857-10.019)+0.9%1.15%(4.857+10.019) 50.74 51
BT AR R RC-40 m3
UG LIk (1.36%1.4%2.072)%2+(1.36%1.4%2.672)%1 12.98 10
Hk A 1 m3
B Tk (1.4%0.872-0.272"2% 7t /4)%1.36%3 4.74 5
BRI R Velgnb m3
WU T35 (1.4%1.15%1.36)%2+(1.4%1.75%1.36)%1 7.71 8
B AR R RC-40 m3
(5w T3) 93.38+12.98 106.36 110
ALy TEWREEE : L=4.2km m3
(1.36+1.4)%2%3 16.56 17
SRR B T t=10cm m
(1.36%1.4)%3 5.7 6
ShERRDUEL t=10cm m2
(BR) )1 P (1.36%1.4%0.10)%3 0.57 1
T AT 7V NE TER RS - L=4.8km m3
(1.36%1.4%0.10)%3%2.35 1.34 1
T AT 7 )V NSy (BR) )11 P2 t
R MA0
g T t=15cm
TR As20
#FET t=>5cm




4 R IR N N 7 HL A7
4 BKARELT at
33.02+93.38+12.98 139.38
Htl A 1 m3
15.16+38.32+4.74 58.22
BRI R Velgnb m3
15.79+50.74+7.71 74.24
BT AR R RC-40 m3
A LHCR) 33.02+106.36 139.38
sy TEMR IR L=4.2km m3
16.56 16.56
SRR B T t=10cm m
5.7 5.7
SRR EEL t=10cm m2
GINIIEES 0.57 0.57
T AT 7L N E TER RS - L=4.8km m3
1.34 1.34
T A7 7 )V LSy (BR) )11 P2 t
R M40
BT t=15cm m2
A HLRLEE As20
s T t=5cm m2
HEHI722.0mLL T 21.9+64.0+1.36%2 88.6
i RS A - 3 18 T4 | BH [LI50.28(0.2)m3 m
HRHIZR3.0mEL T 1.36 1.4
8 LA A - 3186 T4y | BH (LI50.28(0.2)m3 m
KEYR—h 88.6 88.6
R B SRR B - | 1B 2.0mBLT m
IKEYR—h 1.36 1.4
A B R E 2 2B 3.6mBL T m
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(21.927+63.97)/1250

0.07




